

PROTUCT CATALOGUE



CATEGORY

GUAVA PASTES

NEW!

























NEW!



NEW!













002 - 030 - 143

CATEGORY











CATEGORY MORNING S TRADITIONAL SHEETS



















FRUITS IN SYRUP



PESSE GOS METADES EN CALOA NEW!

190 244

CATEGORY CONCENTRATED JUICES















074





105



106



185



182

CATEGORY MUSTARDS



228









197

CATEGORY BARBECUES





075

CATEGORY HOT SAUCES



049

CATEGORY MAYONNAISES









TOMATO SAUCES



































ITEM BARCODE	NCM	ITEM	ITEMS PER BOX	SHELF LIFE (DAYS)	BOX BARCODE	BOXES PER LAYER	LAYERS	BOXES PER PALLET
7 89804570206 4	2007,99,90	Guava Paste 200 g FP	36	365	1 789804570206 1	17	7	119
7 89804570033 6	2007.99.90	Guava Paste 300 g FP	36	365	1 789804570033 3	14	7	98
7 89804570020 6	2007.99.90	Guava Paste 400 g FP	24	365	1 789804570020 3	14	7	98
7 89804570001 5	2007.99.90	Guava Paste 500 g FP	24	365	1 789804570001 2	15	6	90
7 89804570029 9	2007.99.90	Guava Paste with Slices 400 g FP	24	365	1 789804570029 6	14	7	98
7 89804570072 5	2007.99.90	Guava Paste "Seu Dia" 30 g (com 6 displays) FF	180	720	2 789804570072 9	13	7	91
7 89804570000 8	2007.99.90	Creamy Guava 400 g Glass Jair	12	540	1 789804570000 5	15	9	135
7 89804570189 0	2007.99.90	Creamy Guava Paste 230 g Top Down	12	540	1 789804570189 7	30	8	240
7 89804570216 3	2007.99.90	Creamy Guava Paste 460 g Top Down	12	540	1 789804570216 0	22	6	132
7 89804570157 9 7 89804570210 1	2007.99.90	Guava Paste 600 g Canned Guava Paste 250 g Plastic Container	24	720 540	1 789804570157 6 1 789804570210 8	21 7	10	126 70
7 89804570209 5	2007.99.90	Guava Paste 500 g Plastic Container	12	540	1 789804570209 2	7	10	70
7 89804570026 8	2007.99.90	Creamy Guava Paste 400 g Plastic Container	24	540	1 789804570216 0	14	6	132
7 89804570168 5	2007.99.90	Guava Paste 1,010 kg FP	12	365	1 789804570168 2	14	6	84
7 89804570002 2	2007.99.90	Guava Paste 7 kg FP	2	365	2 789804570002 6	14	5	70
7 89804570030 5	2007.99.90	Guava Paste with Slices 7 kg FP	2	365	2 789804570030 9	14	5	70
7 89804570143 2	2007.99.90	Guava Paste 15 kg FP	1	365	1 789804570143 9	16	4	64
7 89804570009 1	2007.99.90	Creamy Guava Paste 4,8 kg Plastic Bucket	4	540	1 789804570009 8	6	5	30
7 89804570156 2	2007.99.90	Creamy Guava Paste 2 kg Pouch	6	540	3 789804570156 3	12	7	84
7 89804570183 8	2007.99.90	Creamy Guava Paste Filling 1,01 kg Pastry Bag		540	1 789804570183 5	14	6	84
7 89804570237 8 7 89804570242 2	2007.99.90	Guava Paste 250 g Plastic Container Guava Paste with Slices 250 g Plastic Container	24 r 24	365	1 789804570237 5 1 789804570242 9	20	6	120
7 89804570022 0	2007.99.90	_	12	365		34	6	120
7 89804570040 4	2007.99.10	Guava Jam 230 g 230 g Glass Jar Grape Jam 230 g Glass Jar	12	720 720	1 789804570022 7 1 789804570040 1	34	6	204
7 89804570023 7	2007.99.10	Strawberry Jam 230 g Glass Jar	12	720	1 789804570023 4	34	6	204
7 89804570200 2	2007,99,10	Chili Pepper Bittersweet Jelly 230 g Top Down		540	1 789804570200 9	30	8	240
7 89804570215 6	2007.99.10	Strawberry Jam 230 g Top Down	12	540	1 789804570215 3	30	8	240
7 89804570024 4	2008,99,00	Figs in Syrup 400g Canned	12	720	1 789804570024 1	16	5	80
7 89804570190 6	2008.70.10	Peaches in Syrup 430 g Canned	12	1095	1 789804570190 3	16	6	96
7 89804570244 6	2008.99.00	Guava in Syrup 400 g Canned	12	1095	1 789804570244 3	10	8	80
7 89804570158 6	2007.99.90	Sweet Potato Paste 600 g Cannes	12	720	1 789804570158 3	21	6	126
7 89804570178 4	2007.99.90	Sweet Potato Paste 300 g FP	24	365	1 789804570178 1	21	6	126
7 89804570031 2	2007.99.90	Sweet Potato Paste 6,6 kg FP	2	365	2 789804570031 6	14	5	70
7 89804570240 8	2007.99.90	Sweet Potato Paste 250 g Plastic Container	24	365	1 789804570240 5	20	6	120
7 89804570241 5 7 89804570243 9	2007,99,90	Banana Sweet 250 g Plastic Container Pumpkin and Coconut Sweet 250 g Plastic Container	24 iner 24	365	1 789804570241 2	20	6	120
7 89804570165 4	2007.99.90	Guava Juice Concentrate 500 ml PET Bottle	12	365 365	1 789804570243 6 1 789804570165 1	22	6	120
7 89804570166 1	2106,90,10	Mango Juice Concentrate 500 ml PET Bottle	12	365	1 789804570166 8	22	6	132
7 89804570167 8	2106.90.10	Cashew Juice Concentrate 500 ml PET Bottle	12	365	1 789804570167 5	22	6	132
7 89804570046 6	2103.20.10	Ketchup 400 g PET	12	540	1 789804570046 3	22	6	132
7 89804570047 3	2103.20.10	Ketchup Spicy 400 g PET	12	540	1 789804570047 0	22	6	132
7 89804570176 0	2103.20.10	Ketchup 200 g PET	12	540	2 789804570176 4	37	5	185
7 89804570185 2	2103.20.10	Premium Tomato Ketchup 400 g Top Down	12	540	1 789804570185 9	22	6	132
7 89804570226 2	2103.20.10	Ketchup 180 g Pouch	36	540	1 789804570226 9	16	8	128
7 89804570182 1	2103.20.90	Ketchup 1,01 kg PET Bottle	9	540	2 789804570182 5	10		00
7 89804570007 7	2103.20.90	Ketchup 3,5 kg PET Bottle	10	540	1 789804570007 4	15	4	60
7 89804570048 0 7 89804570199 9	2103.30.21 2103.30.21	Yellow Mustard 180 g PET Yellow Mustard 190 g Top Down	12	720 720	2 789804570048 4 1 789804570199 6	37	5 8	185 240
7 89804570228 6	2103.30.21	Yellow Mustard 180 g Pouch	36	720	1 789804570228 3	16	8	128
7 89804570005 3	2103.30.21	Yellow Mustard 970 g PET Bottle	9	720	1 789804570005 0	10		120
7 89804570197 5	2103,30,29	Yellow Mustard 3,3 kg PET Bottle	4	720	1 789804570197 2	15	40	60
7 89804570219 4	2103.90.11	Mayonnaise 370 g Top Down	12	300	1 789804570219 1	22	6	132
7 89804570225 5	2103,90,11	Mayonnaise 180 g Pouch	36	300	1 789804570225 2	16	8	128
7 89804570235 4	2103,90,11	Mayonnaise 500 g Plastic Container	12	300	1 789804570235 1	15	8	120
7 89804570236 1	2103.90.19	Mayonnaise 900 g PET Bottle	9	300	1 789804570236 8			
7 89804570012 1	2103.90.91	Barbecue Sauce 400 g Top Down	12	540	1 789804570012 8	22	6	132
7 89804570227 9	2103.90.91	Barbecue Sauce 180 g Pouch	36	540	1 789804570227 6	16	8	128
7 89804570049 7	2103,90,91	Pepper Sauce 150 ml PET	24	720	1 789804570049 4	22	<u>6</u> 5	132
7 89804570111 1 7 89804570204 0	2103,20,10	Traditional Tomato Sauce 300 g Pouch Pizza Sauce 300 g Pouch	36 36	540 540	2 789804570111 5 1 789804570204 7	16 16	5 5	80
7 89804570208 8	2103,20,10	Tomato Sauce with Basil 300 g Pouch	36	540	1 789804570208 5	16	5	80
7 89804570212 5	2103.20.10	Bolognese Tomato Sauce 300 g Pouch	36	540	1 789804570212 2	16	5	80
7 89804570211 8	2103.20.10	Hot Dog Tomato Sauce 300 g Pouch	36	540	1 789804570211 5	16	5	80
7 89804570213 2	2103.20.10	Premium Tomato Sauce 300 g Pouch	36	540	1 789804570213 9	16	5	80
7 89804570207 1	2103,20,10	Tomato Sauce with Fine Herbs 300 g Pouch	36	540	1 789804570207 8	16	5	80
7 89804570132 6	2002,90,00	Tomato Paste 300 g Pouch	36	540	2 789804570132 0	16	5	80
7 89804570205 7	2002.90.00	Tomato Paste 140 g Pouch	48	540	1 789804570205 4	13	7	91
7 89804570055 8	2002,90,00	Tomato Paste 190 g Glass Jair	24	720	1 789804570055 5	17	5	85
7 89804570193 7	2103,20,90	Traditional Tomato Sauce 1,01 kg Pouch	12	540	1 789804570193 4	11	6 7	66
7 89804570141 8 7 89804570160 9	2103.20.90	Traditional Tomato Sauce 1,7 kg Pouch	6	540 540	3 789804570141 9 3 789804570160 0	12	7	84
7 89804570203 3	2103,20,90	Tomato Paste 1,7 kg Pouch Hot Dog Tomato Sauce 1,7 kg Pouch	6	540	1 789804570203 0	12	7	84
7 89804570159 3	2103,20,90	Pizza Sauce 1,7 kg Pouch	6	540	3 789804570159 4	12	7	84
7 89804570230 9	2103.20.10	Traditional Tomato Sauce 240 g Pouch	36	540	1 789804570230 6	19	5	95
7 89804570239 2	2002,90,00	Rustic Passata 240 g Pouch	36	540	1 789804570239 9	19	5	95

